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Representer graphiquement chaque expression 
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2)  x = -5
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3)  y = 
3
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4)  y = 2x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6



©A v2m0W2O0Y EKwuktPax `SboVfHtHwWaFrqet gLQL\Ch.a N PA[lclJ mrYi`gWhWtjsT Mrpe_sMemrEvsehdT.D x lMhatdUeM SwbiUtlhW sIInPfnimnriQtueb uPEreep-KADlNgPeUbKrHa`.

Worksheet by Kuta Software LLC

-2-

5)  x = -2
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6)  y = 
4
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7)  y = -
1
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8)  y = -
4
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9)  y = 2x + 3
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10)  y = 3x - 5
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12)  y = x - 4
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13)  y = -
2
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14)  y = 
1
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15)  y = -3x - 5
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16)  y = 
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17)  x + y = 1
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18)  4x + y = 4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

19)  4x + 3y = 6
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20)  3x + 4y = -8
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